
ANSWERS FOR MONDAY 13/4/2020 

1. a)  p3,p5,and p6 

 b)  (5X10)+(6X10)+(8X10) 

    =60+50+80 

  =190 Pencils 

 c)          15x10 

  =150  Pencils 

 d)         80-60 

           =20 more  pencils 

        e )        48x10 

                  =480 pencils 

2. a) 2x200=400 books 

    b)Serumbe primary school 

     

    c)( 4x200)+½x200 

         = 800+100 

         = 900 books 

     

 

   d)  (3x200)+900 

         =600+900 

         =1500 books 

     e)   200(2+5) 

          =200x7 

          =1400 books 

      f ) (200x5)+100 

          =1000+100 

          =1100 books  


